CHEMISTRY

BOOKS - NEET PREVIOUS YEAR
(YEARWISE + CHAPTERWISE)

ATOMIC STRUCTURE

1. Which one is the wrong statement ?



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tFOIpAxR13Rv

A.de-Broglie's wavelength is given by

A= —,
mu
where
m = mass of the particle,
v = group velocity of the particle
B. The uncertainty principle Is
AE x At > h /4w

C. Half-filled and fully filled orbitals have

greater stability due to greater


https://dl.doubtnut.com/l/_tFOIpAxR13Rv

exchange energy, greater symmetry and

more balanced arrangement

D. The energy of 2s-orbital is less than the

energy of 2 p-orbital in case of hydrogen

like atoms

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_tFOIpAxR13Rv

2. Two electrons occupying the same orbital

are distinguished by :

A. Magnetic quantum number

B. Azimuthal quantum number

C. Spin quantum number

D. Principal quantum number

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6iToZmfGxShT
https://dl.doubtnut.com/l/_W7R0vzitPXpo

3. How many delectrons can fit in the orbital

for whichn=3and[=1?

A2

B.6

C.10

D. 14

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_W7R0vzitPXpo

4. Which is the correct order of increasing

energy of the listed orbitals in the atom of

titanium ?

A.3s 4s 3p 3d

B.4s 3s 3p 3d

C.3s 3p 3d 4s

D.3s 3p 4s 3d

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0YZjK89cLfWw

5. The number of d-electrons in Fez+(Z=26) is
not equal to the number of electrons in which
one of the following ?

A. s-electrons in Mg (Z=12)

B. p-electrons in Cl (Z=17)

C. d-electrons in Fe (Z=26)

D. p-electrons in Ne (Z=10)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2UjluUSyzlgE

6. The angular momentum of electrons in d

orbital is equal to

A. /6h

B.\/2h
C.2¢/3h

D.Oh

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Pmny5tzyBt2F
https://dl.doubtnut.com/l/_3GAj7G7C9ULF

7. What is the maximum number of orbitals

that can be identified with the following

quantum numbers ?n = 3,1l =1, m; = 0.

Al

B.2

C.3

D. 4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3GAj7G7C9ULF
https://dl.doubtnut.com/l/_aHLjYFPrrPVx

8. Calculate the energy in joule corresponding
to light of wavelength 45nm :
(Planck' constant h = 6.63 x 10 3*Js , speed
of light c = 3 x 10°ms 1)

A.6.67 x 10"

B.6.67 x 10"

C.4.42 x 10~ 15

D.4.42 x 10~ 18

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_aHLjYFPrrPVx

9. The value of Planck's constant s
6.63 x 10 %*Js. The speed of light is
3 x 10'"nms 1. Which value is the closed to
the wavelength in nanometers of a quantum
of light with frequency 6 x 10'%s~1?

A. 10

B. 25

C.50

D.75


https://dl.doubtnut.com/l/_aHLjYFPrrPVx
https://dl.doubtnut.com/l/_VRG2bKBFul2j

Answer: C

o Watch Video Solution

10. What is the maximum number of electrons

that can be associated with a following set of

quantum numbers ?
(n=3,l=1and m = —1).

A. 10

B.6

C.4


https://dl.doubtnut.com/l/_VRG2bKBFul2j
https://dl.doubtnut.com/l/_jWegyLuoeEs1

D. 2

Answer: D

o Watch Video Solution

11. Maximum number of electrons in a sub-

shell withl = 3and n = 4 is.

A 14

B. 16

C.10


https://dl.doubtnut.com/l/_jWegyLuoeEs1
https://dl.doubtnut.com/l/_GXMmrTJTBuGP

D. 12

Answer: A

° Watch Video Solution

12. Correct set of four quantum numbers for

the valence (outermost) electron of rubidium

(Z=237)is

1
A5, 1,1 —
777+2

1
B.6, 0,0, —1—5


https://dl.doubtnut.com/l/_GXMmrTJTBuGP
https://dl.doubtnut.com/l/_zYOGvxiJ5L6Y

C.5,0,0, + =

D.5,1,0, + —

Answer: C

o Watch Video Solution

13. The energies E; and E5 of two radiations
are 25eV and 50eV respectively. The relation

between their wavelengths, i.e,, A\; and Ay will

be.


https://dl.doubtnut.com/l/_zYOGvxiJ5L6Y
https://dl.doubtnut.com/l/_58C3a1Vrsbnx

A A = 2)

B.\{ = 4\,
C.\ = 1)\
AL = A2
D.A\{ = Xy
Answer: A

o Watch Video Solution

14. If n = 6, the correct sequence for filling of

electrons will be.


https://dl.doubtnut.com/l/_58C3a1Vrsbnx
https://dl.doubtnut.com/l/_S5CzoO2oCNfd

A.ns — (n-1)d — (n-2)f — np

B.ns — (n-2)f — np — (n-1)d

C.ns — np — (n-1)d — (n-2)f

D.ns — (n-2)f — (n-1)d — np

Answer: D

o Watch Video Solution

15. Which of the following is not permissible

arrangement of electrons in an atom ?


https://dl.doubtnut.com/l/_S5CzoO2oCNfd
https://dl.doubtnut.com/l/_0jezPB0vhvm5

A. n=4, =0, m=0, s=-1/2

B. n=5, |=3, m=0, s=+1/2

C.n=3, |=2, m=-3, s=-1/2

D. n=3, |=2, m=-2, s=-1/2

Answer: C

o Watch Video Solution

16. The energy absorbed by each molecule
(A,) of a substance is 4.4 x 10~ '*.J and bond

energy per molecule is 4.0 x 10~ 'J. The


https://dl.doubtnut.com/l/_0jezPB0vhvm5
https://dl.doubtnut.com/l/_ArPSlsqB62R4

kinetic energy of the molecule per atom will

be.

A.2.0 x 10207

B.2.2 x 10~ 9

C.2.0 x 10 19J

D.4.0 x 1020y

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ArPSlsqB62R4

17. Maximum number of electrons in a sub-

shell of an atom is determined by the

following.

A 4] +2

B. 2| +1

C.4]-2

D. 21>

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZLnc79gINTFu

18. The measurement of the electron position
iIs associated with an uncertainty in
momentum, which is equal to
1 x 10~ ®gems 1. The uncertainty in electron
velocity is (mass of an electron is 9 x 10_289)
A1lx10°cms*
B.1x 10°cms™*

C.1x10°cms!

D.1 x 10" cms™!

Answer: A


https://dl.doubtnut.com/l/_e8Tst4UW8Cy0

° Watch Video Solution

19. If uncertainty in position and momentum

are equal then uncertainty in velocity is.

A 1 [n
"2m \V 7
h

B.{/ —
\/ 2m

Answer: A

| 8 l


https://dl.doubtnut.com/l/_e8Tst4UW8Cy0
https://dl.doubtnut.com/l/_SCNYchNulCcz

20. Consider the following sets of quantum

numbers.

Which of the following sets of quantum

number is not possible ?


https://dl.doubtnut.com/l/_SCNYchNulCcz
https://dl.doubtnut.com/l/_3GAcjTL8EOED

A. (i), (iii) and (iv)

B. (i), (i1), (iii) and (iv)

C. (i), (iv) and (v)

D. (i) and (iii)

Answer: D

° Watch Video Solution

21. The orientation of an atomic orbital is

governed by :


https://dl.doubtnut.com/l/_3GAcjTL8EOED
https://dl.doubtnut.com/l/_h6rU7Kfonw91

A. azimuthal quantum number

B. spin quantum number

C. magnetic quantum number

D. Principal quantum number

Answer: C

o Watch Video Solution

22. Given m, =9.11x103%%kg and

h = 6.626 x 10 %*Js, the uncertainty


https://dl.doubtnut.com/l/_h6rU7Kfonw91
https://dl.doubtnut.com/l/_gbrTHYd8m1n3

involved in the measuremenetof velocity

within a distance of 0.1A is

A 5.79 x 108ms 1

B.5.79 x 10"ms 1

C.5.79 x 108ms !

D.5.79 x 10°ms !

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gbrTHYd8m1n3

23. The energy of second Bohr orbit of the
hydrogen atom is —328kJmol ', hence the
energy of fourth Bohr orbit would be.

A. —41kJmol 1

B. — 1312k Jmol

C. —164kJmol !

D. — 82kJmol !

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3FRHjp65Y3yT

24. The frequency of radiations emitted when
electron falls from n=4 to n=1 Iin
H — atom would be (Given FE; for
H = 2.18 x 10~ ®Jatom ~* and
h = 6.625 x 1034 Js)

A.1.54 x 10"°s 1

B.1.03 x 10*°s 1

C.3.08 x 1051

D.2.00 x 10*°s 1

Answer: C


https://dl.doubtnut.com/l/_5EvuUQ8J7b14

° Watch Video Solution

25. The value of Planck's constant s
6.63 x 10 3*Js. The velocity of light is
3.0 x 10%ms 1. Which value is closest to the
wavelength in nanometers of a quantum of

light with frequency 8 x 10'°s~1?

A 4 x 10!
B.3 x 107

C.2x 10 %


https://dl.doubtnut.com/l/_5EvuUQ8J7b14
https://dl.doubtnut.com/l/_nA7Q6WPFLCDM

D.5 x 10 '8

Answer: A

° Watch Video Solution

26. In hydrogen atom, energy of first excited
state is —3.4eV. Then, K E of the same orbit
of hydrogen atom is.

A +3.4eV

B.+6.8eV


https://dl.doubtnut.com/l/_nA7Q6WPFLCDM
https://dl.doubtnut.com/l/_7T3tXC9vTwri

C. —13.6eV

D. 4 13.6eV

Answer: A

° Watch Video Solution

27. The following quantum numbers are
possible for how many orbitals

(s)n=3,l=2,m= +27?

Al


https://dl.doubtnut.com/l/_7T3tXC9vTwri
https://dl.doubtnut.com/l/_HUdjU0vxkjWa

B.2

C.3

D.4

Answer: A

o Watch Video Solution

28. The energy of a photon is given as, AFE
Jatom = 3.03 x 10" *Jatom ! then, the

wavelength () of the photon is


https://dl.doubtnut.com/l/_HUdjU0vxkjWa
https://dl.doubtnut.com/l/_S53zFCWJZUN3

A. 6.56 nm

B.65.6 nm

C. 656 nm

D. 0.656 nm

Answer: C

o Watch Video Solution

29. The de-Broglie wavelength of a particle

with mass 1g and velocity 100m /sec is.


https://dl.doubtnut.com/l/_S53zFCWJZUN3
https://dl.doubtnut.com/l/_raBldFXF21F1

A. 6.63 x 10 3m

B.6.63 x 10 **m

C.6.63 x 10 **m

D.6.65 x 10 3m

Answer: A

o Watch Video Solution

30. Who modified Bohr's theory of introducing

elliptical orbits for electron path?


https://dl.doubtnut.com/l/_raBldFXF21F1
https://dl.doubtnut.com/l/_iqghJwIZmobU

A. Hund

B. Thomson

C. Rutherford

D. Sommerfeld

Answer: D

o Watch Video Solution

3. Which of the following electron
configurations is correct for iron,(atomic

number26)?


https://dl.doubtnut.com/l/_iqghJwIZmobU
https://dl.doubtnut.com/l/_anXM5bRS0n0V

A. 152, 2522p°, 3523p°3d°
B. 1s%, 25%2p°, 35%3p°, 452, 3d°
C.1s?, 2s*2p%, 3s23p°, 452, 3d"

D.1s%, 25%2p°, 3523p%3d°, 45°

Answer: D

o Watch Video Solution

32. The uncertainty in momentum of an

electron is 1x 10 °kg—m/s. The


https://dl.doubtnut.com/l/_anXM5bRS0n0V
https://dl.doubtnut.com/l/_yB9bTuwYIFcT

uncertainty in its position will be
(h = 6.62 x 10 3*kg = m’/s).

A.1.05 x 10~ *m

B.1.05 x 10~ *°m

C.5.27 x 107 'm

D.5.25 x 10~ %m

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_yB9bTuwYIFcT

33. The position of both an electron and a
helium atom is known within 1.0nm and the
momentum of the electron is known within
50 x 10~ *°kgms 1. The minimum
uncertainty in the measurement of the

momentum of the helium atom is.
A. 50kgms !
B. 80kgms 1

C.80 x 10 °kgms 1

D.5.0 x 10~ *kgms 1


https://dl.doubtnut.com/l/_y6MYnwIEGVaJ

Answer: D

o Watch Video Solution

34.The radus of hydrogen atom in the ground
state 0.53A. The radius of Li*" ion (Atomic
number = 3) in a similar state is

A.0.13

B. 0.06

C.4.77

D. 2.12


https://dl.doubtnut.com/l/_y6MYnwIEGVaJ
https://dl.doubtnut.com/l/_HCQ9n2C9UOzl

Answer: D

o Watch Video Solution

35. The electronic configuration of gadolinium
(Atomic number 64) is

A.[Xe] 4f%, 5d°, 6s°

B. [Xe] 417, 5d!, 65>

C. [Xe] 4%, 5d2, 65>

D.[Xe] 4f3, 5d°, 6s°


https://dl.doubtnut.com/l/_HCQ9n2C9UOzl
https://dl.doubtnut.com/l/_BObxJ0AE7s2x

Answer: B

o Watch Video Solution

36. The momentum of a particle having a de-
Broglie wavelength of 107 m is (Given,
h = 6.625 x 10~ *'m)

A.3.3125 x 10 "kgms 1

B.26.5 x 10~ "kgms !

C.6.625 x 10~ kgms 1

D.13.25 x 10 "kgms !


https://dl.doubtnut.com/l/_BObxJ0AE7s2x
https://dl.doubtnut.com/l/_hwbUQWl0zOvY

Answer: C

o Watch Video Solution

37. The orbitals are called degenerate when

A. they have the same wave functions

B. they have the same wave functions but

different energies

C.they have different wave functions but

Same energy


https://dl.doubtnut.com/l/_hwbUQWl0zOvY
https://dl.doubtnut.com/l/_dVvdQ5cQlgyj

D. they have the same energy

Answer: D

° Watch Video Solution

38. The uncertainty in the position of an

electron (mass = 9.1 X 10_289) moving

1

with a velocity of 3.0 x 10*cms ~! accurate up

to 0.001 % will be

(Use = in the uncertainty expression, where
I

h = 6.626 x 10~ *Terg — s)


https://dl.doubtnut.com/l/_dVvdQ5cQlgyj
https://dl.doubtnut.com/l/_HWNr3AHPPthy

A. 193 cm

B.3.84 cm

C.5.76 cm

D. 768 cm

Answer: A

o Watch Video Solution

39. The radus of hydrogen atom in the ground
state 0.53A. The radius of Li’" ion (Atomic

number = 3) in a similar state is


https://dl.doubtnut.com/l/_HWNr3AHPPthy
https://dl.doubtnut.com/l/_Z9bZbYmVGVCm

A. 017 A

B.0.53 A

C.0.265 A

D.1.06 A

Answer: A

o Watch Video Solution

40. An electron has a spin quantum number
+1§ and a magnetic quantum number -1. It

cannot be present in


https://dl.doubtnut.com/l/_Z9bZbYmVGVCm
https://dl.doubtnut.com/l/_D53h4VIn1lqY

A. d-orbital

B. f-orbital

C. p-orbital

D. s-orbital

Answer: D

° Watch Video Solution

41.In photoelectric emission, the energy of the

emitted electron is


https://dl.doubtnut.com/l/_D53h4VIn1lqY
https://dl.doubtnut.com/l/_xW1tnIdrP8k8

A. greater than the incident photon

B. same as that of the incident photon

C. smaller than the incident photon

D. proportional to the intensity of incident

photon

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xW1tnIdrP8k8

42. An electron of mass m and charge -e moves
in circular orbit of radius r round the nucleus
of charge +Ze in unielectron system. In CGS

system the potential energy of electron is

Answer: B

‘ o Wiak hh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_GCbnFeUOXu9E

VVCILLIL VI INAGINI L] J

43. The wave character of moving electron was

experimentally verified by :

A. de-Broglie

B. N Bohr

C. Davisson and Germer

D. Schrodinger

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GCbnFeUOXu9E
https://dl.doubtnut.com/l/_SpWEV3B3EUj2

44. Which of the following is/are false

regarding cathode rays?

A. They possess kinetic energy

B. They are electromagnetic waves

C. They produce heat

D. They produce mechanical pressure

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SpWEV3B3EUj2
https://dl.doubtnut.com/l/_EIUcyO1oFiHm

45. For which of the following sets of quantum

numbers, an electrons will have the highest

energy ?
nl m S
A. )
3 21 5
nl m S
B. )
4 2 —1 5
nl m S
C. )
4 1 0 -— 3
n l m S
D. )
5 0 0 — 3
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hh2Wk9T9JzcN

46. The ionization potential for hydrogen

atom is 13.6eV, the ionization potential for

He™" is

A. 544 eV

B.6.8 eV

C.13.6 eV

D. 245 eV

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SMMjBBzn5BV7

47. The energy of an electron in the nth Bohr

orbit of hydrogen atom is

13.6

A — eV
n4
13.6 v
— e
n3
13.6
— eV
n2
13.6
— eV
n
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_d3sNAwleg21Y
https://dl.doubtnut.com/l/_rS1lojv5Vupj

48. Electronic configuration calcium atom can
be written as

A. [Ne] 4p*

B. [Ar] 457

C. [Ne]4s”

D. [Kr]4p?

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rS1lojv5Vupj

49. Electronic configuration of .99 Cu in
ground state is :

A.1s%, 2s%2p°, 3523p°, 452, 3d°

B. 152, 25%2p°, 3523p°3d1°, 45!

C.1s?, 25*2p%, 3523p°, 4524y, 5525p!

D.1s%, 2s%2p°, 3523p°, 45%4p°, 3d°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3OeyVHBZQ9Ix
https://dl.doubtnut.com/l/_CMnHINW2aZQs

50. For azimuthal quantum number [=3, the

maximum number of electrons will be

A2

B.6

C.0

D. 14

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CMnHINW2aZQs

51. FILLING OF ATOMIC ORBITALS- AUFBAU

PRINCIPLE

A. 3d, 4s, 4p, 4d, 5s

B. 4s, 3d, 4p, 5s, 4d

C. 5s,4p, 3d, 4d, 5s

D. 3d, 4p, 4s, 4d, 5s

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_F0cUJJH9iBDm
https://dl.doubtnut.com/l/_TqapjjyYhjKS

52. No two electrons in an atom will have all

the four quantum numbers same. This

statement is known as

A. Hund's rule

B. Aufbau principle

C. Uncertainty principle

D. Pauli's exclusion principle

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TqapjjyYhjKS
https://dl.doubtnut.com/l/_7ipVtSfupjPd

53. An ion has 18 electrons in the outermost

shell it is

A Cu™t

B.Th*"

C.Cs™

D.K*

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7ipVtSfupjPd

54. The total number of electrons that can be
accommodated in all the orbitals having
principal quantum number 2 and azimuthal
quantum number 1 are

A 2

B.4

C.6

D.8

Answer: C

I o Wiak hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_tl5e0FskU25Z

VVCILLIL VI IAGINIE L J

55. The maximum number of electrons in a

subshell is given by the expression

A. 4] -2

B. 4| +2

C.21 +2

D. 2n>

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tl5e0FskU25Z
https://dl.doubtnut.com/l/_h64sLo7kYLOr

56. Number of unpaired electrons in N2*
is/are

A 2

B.O

C. 1

D.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_h64sLo7kYLOr
https://dl.doubtnut.com/l/_8sgXuS6LZkO6

57. Which of the following statement does not

form part of Bohr's model of the hydrogen

atomn?

A. Energy of the electrons in the orbits are

quantised

B. The electron in the orbit nearest the

nucleus has the lowest energy

C. Electrons revolve in different orbits

around the nucleus


https://dl.doubtnut.com/l/_04BGWlzOmVKM

D. The position and velocity of electrons in

the orbit cannot be determined

simultaneously

Answer: D

o Watch Video Solution

58. If r is radius of first orbit , the radius of nth

orbit of the H atom will be

A.rn


https://dl.doubtnut.com/l/_04BGWlzOmVKM
https://dl.doubtnut.com/l/_6t0AZNIQkjPJ

Answer: A

o Watch Video Solution

59. The number of spherical nodes in 3p

orbital are

A.one


https://dl.doubtnut.com/l/_6t0AZNIQkjPJ
https://dl.doubtnut.com/l/_7UBwBHc4rwFw

B. three

C. two

D. None of these

Answer: A

o Watch Video Solution

60. The spectrum of He is expected to be

similar to that of

A H


https://dl.doubtnut.com/l/_7UBwBHc4rwFw
https://dl.doubtnut.com/l/_5Gi7TfVbPNS2

B. Na

C.Lit

D. He™t

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5Gi7TfVbPNS2

